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mél'r answers in their own words
as far as practicable.

. Figures in the right hand margin
indicate full marks.

15 minutes of extra time have been
allotted for the candidates o read
the guestions carefully.
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This gquestion booklet 1s divided into
fwo secthons — Section-A and
Section-B.
In Section-A, there are
100 obfective type questions, out
of which any S50 guestions
are to be answered First
50 answers will be evaluated in
case more than 50 gquestions are
answered. Each question carres
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct optinr
on OMR Answer sheet provided o

you. Do not use whitener / liguid
[/ blade / nail etc. on OMR-sheet,
otherwise the result will be
treated invalid.

In Section-B, there are 30 short
answer type guestions, oul of
which any 15 questions are to be
answered. Each guestion carmes
2 marks. Apart from these, there
are 8 long answer type
guestions, out of which any
4 guestions are to be answered
Each question carries § marks.

Use of any electronic appiiances is
strictly prohibited.
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wvs - % / BECTION - A

Twfrs W / Objective Type Questions
wyT wear 1% meim&mwﬁmﬁvwfﬁﬁﬁ#wﬂﬁh
feei 50 Tl & IAT 99 FRT G me we freey ot OMR ¥z 9t FE
il 50 x 1 =50
Question Nos. 1 to 100 have four gptions, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet.

50 x 1 = 50

1. sin(90 -A) =
(A} sinA
(C} tan A (D)

2. 4R a=p=60" & T cos(a-p) B TH R

(B) cosA

scc A

W 3 @ 1
0

o) 2 |

If a =A=60" then the value of cos(a~p) is

. (C)

(A) @ 1

1
2
(€ O D) 2
3. ﬂﬁﬂ-45=3’t?hsinu+cusa'ﬁrqﬁ%

‘ (A) 71; B 2
© 3 o 1
\ | Yt e
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I8 = 45° then the value of sin 0 + cos 0 1s

| 110

I

T ; 2
Y B) 2
1
(C) 3 D) 1
4. TR A=30°R A 2120A am i
1-tan? A
-(A) 2 tan 30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°
If A = 30° then the value of — 212804 ;o
1-tan? A
(A} 2 tan 30° .(B) tan 60°
(C}) 2 tan 60° (D) tan 30°
5. ﬁf&tan&==1-§2—€i?hsinaaﬂrrmi
2 . 12
x (A} 13 (B) 5
S 12
(€) 13 (D) 5
If tanﬂ:%— then the value of sin 8 is
5 12
(A) i3 (B) 13
S 12
(C) 13 (D) <
'3S/A/605
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cos au* . tan BO® -
sin31®*  cotl0®

I

A B

(A) ﬁ (B)

« o3 |

€ 5 (1) 3

af 1an25° x 1an65° = sin A B @ A & WA ?
. (A) 25° (B) 65"

(€ 90° (D} 45°

If tan 25° x tan 65° = sin A then the value of A is
Ay 25° (B) 635°

c)  90° (D) 45°

8. ﬂﬁmsﬂ=x?ﬂtanﬂ=

2 2
Jl-fx 1-x
(A) @ =
X

c) y1-x2 (D)
= 1 2

If cosl= x then tan 0 =

J1+I= (B) 1-3:2

(&) - =

Q) y1-x2 (D)

88/A/605 Page 5 of 44




o)

9 (1-cos'0) -
A cos? 0f1-cos? 0} M) sin?0( +co8? 0)
(€)  sin?0(1-sin?0) D) sin?0 (1+sin? 0)
10, -3y o fn Rl fag sy s @ 2
A1 (y,0) B) (2,1
(C) (0, x) (D) it A w8 Tl
What is the form of a point lying on y-axis ?
(A) (v 0} (B) (2,y]
() (0, x) _ (D) None of these
1. k% %8 w1 & R fgam afiem ke -6x+1 =0 % @1 aralis v
a4 § 2 '
(A) 6 B) 8
. (€) 9 (D) 10

For what valuc of k, roots of the quadratic equation kx? —6x+1 =0
arc rcal and cqual ?

(A) 6 B) 8
) 9 (D) 10
12. 3R ¥R p(x) ¥ @& = 2 @, @ FEffes § w8 pix) T @
TAEYE § P '
(A) x-2 B) x+2
.fc) =x-1 (D) x+1
| S8/A/605 Page 6 of 4
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If one of the 2cros of the polynomial p(x) is 2 then which of the

following is a factor of p(x) ?

(A

(C)

x-2 B) x+2

13. ‘ﬁiﬁtﬁ ﬂx:+ﬂt+b%1ﬁ$u3ﬂ'{ﬁﬁ.?ﬁu.ﬂmﬂﬁ%

(Al

(€)

a -
o - (B) —

c

=]

nlor

b ‘
- D) -

If @ and P be the zeros of the polynomial ex? +ax+b then the value

ofla.pis
w2 ® ==
€ 2 o -2

14, Frafefigs 1 8 =7 Zum o § 2

(A)

(C)

(x+3) (x-3)ax2-4x3(B) - (x+3)% =4(x+4)

[2:--2]2 =4x?+7 (D) 4I+-4lx-=4x

Which of the following is a quadratic equation ?

(A)

(C)

(x+3)(x-3)=x>-4x*(B) (x+3)% =4(x+9)

- L,q
(2x-2)° =4x°+7 (D) 4x+4x x

[88/A/605
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15, Refefe § 2 9 R wliem 78 3 7 '
{A) Sx"‘xntx:-ha (3) Ia-xitlx-'lla
€ (x+3)?=3(x2-38) (D) (J2x+3)%2=2x%+5
Which of the following is not a quadratic equation ?
(A) Sx-x?=x?.+3 B) x?-x%2=(x-1)°
(C) (x+3)%=3(x2-5) (D) (J2x+3)2=2x2+5
16. faam wfiwm 2x2 ~7x+6=0 %1 = &
A1 B -1
< 27 (D) 37
The discriminant of the quadratic equation 2x? -7x+6=0 is
A 1 | | -1
(c) 27 (D) 37
17. PefRmid s g =25 dafmwi?
«(A)  (2.0) By (2,1)
© (2 2) (D) ¥ A WA
Which of the following points lies on the graph of x=2 ?
(A) (2,0) B) (2,1)
c (2, 2) - (D) all of these
SS/A/605 Fage 8 of 4
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ﬂf&P+{,2P+I.4P-1mma!ummt e
Lad | 2
& - | o 4
I{P+1,2P+ 1, 4P~ | are in A.P. then the value of Pis
(A} 1 B) 2
c 3 (D) 4
0. St AR 1, 5,9, .. F 9 W d
(A) 2 (B) 3
(C) 4 (D) 5
The common difference of arithmetic progression 1, 5, 9, ... i8
(A) 2 B) 3
€ 4 (D) S
20. TAIW AA 5, 8,11, 14, .. FAA-TI R38R ?
A) 104 ® 114
«(c) 124 (D} 134
'Which term of the AP, 5, 8,11, 14, ...is 38 7
(A) 10th (B) 1lth
(€) 12th (D) 13th
Page S of 44
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21, R A0 1), B(o, 5)w C(3, 4l Aapc ¥ o §, @ AABC w;

WaweE (ol yand 1) R

" 1A)

(€)

16

6

(B)

(D)

12

4

IMA(DO,1),B(0,5)and C( 3,4 ) are the vertices of any AABC
then the area ( in square unit ) of AABC is

(A)

(<)

16

6

(B)

(D)

12

4

22, tan 10° . tan 23° . tan B0®° . tan 67° =

(A)

(€)

0

J3

(B)

(D)

1

J3

23. 3 2 wuEy Pgel F AeEl W W 100 ¢ 144 B, @ I T g

W IAE 2
+{A) 10:8
(C) 10:12

(B)

(D)

12: 10

10: 13

If the ratio of arcas of two similar triangles is 100 : 144 then the

ratio of their corresponding sides is

(A) 10:8 (B) 12:10
(C)y 10:12 (D) 10:13
SS/A/605 Page 10 of 4+




[110]
E felt gm &) 2 wem il gt afaiifa w0 arel Tan & wed 8

() V(B) B

© ¥l () s A W Al

A line which intersects a circle in two distinct points is called
(A)  Chord (B) Secant

(C) Tangent (D) None of these

#Wﬂﬁﬁﬂﬁﬂﬂwtiq:gﬁ:mﬂ%|ﬁgwﬁahﬁﬁw

25.
s fEan §m 2
(A) 9:4 «(B) 16:81
(€} 81:16 (D) 2:3
The corresponding sides of two similar triangles arc in the ratio
4 : 9. What will be the ratio of the areas of the triangles ?
(A) 9:4 B) 16:81
(C) B81:16 D) 2:3
26. AABC ~ADEF @1 BC = 3 ¥ft, EF = 4 1 21 A& AABC 1 BELTS]
54 82 B, A ADEF %I Bawel &
(4) 56 @dH? . @ 9suW?
€ 19682 , (D) 49 &d?

AABC -ADEF and BC = 3 cm, EF = 4 cm. If the area of AABC is

54 m‘!:, then the area of ADEF is
‘ (B) 96cm?

() 56 cm
2

C) 196 cm? (D) 49cm

8S/A/605
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27, Rl P ABC# 2A = 90°, BC = 13 340, AB-IEﬂFﬁﬁACE“Imfg
(A) 3§ s (B) 43
(€ 5ad (D) 6%

In any AABC, £ZA = 90°, BC= 13 cm, AB= 12 cm ; theh the value o

AC s

(A) 3 cm (B) 4cm
/A€) Sem D) 6ecm

28. ADEF@YW APQR W Ra1 @ 76 4D = 20 a1 4R = «E, @t Pafafes 5

FR-T A R ?
«(A)  ZF= 2P B) «F =20

(C) <4D=sp D) ZE=cP

In ADEF and APQR it is given that ZD = £ZQ and LR = ZE, then
which of the following is correct ?

(A) ZF=2P (B) ZF =20
(C) «D=cP (D) ZE=/P

. AB_BC _CA . P
29. MEC‘IQ‘&DEFIHW%%’DE—EF oF © ZA 40

ZB=80° W £F I am #

(A) 30° [\{B] 45°
(C) 60 D) 40°
SS/A/605
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AABC and ADEF AB _BC _ CA nd <A = 407,
are such that DE ~ EF ,

ZB=80% ; then the measure of ZF is

(A) 30° (B) 4s°
(€} 60° (D) 40°

30. 2w g A swafiy el tanad A den @
Ay 1 (B 2
€ 3 (D) AR

The number of common tangents of two intersecting circles i1s

(A) 1 B) 2
(¢ 3 (D) infinitely many

31. ﬂ’ﬁﬁ%mﬂﬁwmﬂﬁé:msiﬂmﬂiqﬂﬂmiﬂmﬂ%

(A) 25:8 (B) 25:16
.(C) 16:25 (D) T & HIE T

The ratio of the volumes of two spheres is 64 :125. Then the ratio

of their surface areas is

(A) 25:8 B) 25:16
(€C) 16:25 (D) none of these

32, 2 el B Benal % 3 4 58 W W Il 3P 6: 7 W,
W Ik HETH F W R
(A) 96:125 (B) 96:175
€ 175:96 (D) 20:63

Page 13 of 44
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| 11g |
The radii of two cylinders are in the ratio 4 : 5 and their heighty

in the ratio 6 ; 7. Then the ratio of their volumes is

(A) 96 : 125 (B) 96:175

€)Y 175:96 (D) 20:63

33. R0 a@ adid w1 vyl gm = B 2

HA)  aR? (B) 2zR?
(€) 3xr? D)  4xR?
What is the total surface area of a hemisphere of radius R ?
(A)  =R? B) 2zR?
€ 3=zr? (D) 4nR?
34. TR T WiF S wwys w1 dawe 980 A2 2 ik Prew 14 A 2 A 59
firds $=md 2 :
(A) 103H ' (B) 20 &#
“(C) 40@H (D) 303
If the curved surface area of a cone is 880 cmZand its radius it
14 cm, then its slant height is
(A) - 10 cm (B) 20cm
(C) 40cm (D) . 30 cm
3s5. 3R foeelt o % Rsol ) ward 243 @ R o % ok o ward R
(A) 28 «(B) 243 &
©) 3ad (D) 4%
SS/A/605 Page 14 of ¢
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110
Il the length of the diagonal of a cube is 2¢3 em, then the ll'.'l!lﬂlh “lr
its edge is
(A) 2em (B 2¥3cm
(C] 3cm (D) 4cm
Rl w1 e g @ R W ge Awe TES & I 8 AAeE
fea 0 &) e 2

(A) AT . (B) SR

€ & T (D) 9RE T

If the edge of a cube is doubled then the total surface area will

become how many times of the previous total surface area ?

{A) Two times (B) Four times

[C) Six times (D) Twelve times

fireh T % T B Awe N I BE & S F T P8 S

%1 g ]
(A) 2:1 ' (B) 4:9
©) 3:2 (D) 4:3

The ratio of the total surface area of a sphere and that of a
hemisphere having the same radiuas is
(A) 2:1 (BY 4:9

€ 3:2 D) 4:3

Page 15 of 44
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Illui
aft Rl i ¥ a% gt dawe 1232 W02 @, | R B

A 7ad B) 14 3h

<€) 21 a4 (D) 288

If the curved surface area of a hemisphere is 1232 cm2then itg

radius s

(A) T7em (B] l4cm
i€} 21em (D) 28cm
TR cosO+cos?8=1 @ sin? 9+sin 0 T TA 2
A} -1 B 1

) O D)y 2

If cosO8+cos?0=1 then the value of sinZ0+sin? 0 is

A -1 B 1

(C) 0 D) 2

1+ I.:m2 A =

1+ l..‘.'ﬂl.a A

(A) sec? A B -1
(€ cot?A @) tan®A

SS/A/605 Page 16 of




31, Pefilen 3 A fm ) eimea v i P

{ﬁi 14 9

2"x3* S 5 w7t
8
) —s 15
:22 332 lD:I 2'4! i 53

| 110 ]

Which of the following fractions has terminating decimal

expansion ?
14
M] —— RS 4
Q.D b 32 Uj:l 5] x ?2
8
(C) D _15

42, —L£— F w99 0-505 # feren @ B

2 5™
101 101
(A) (B
21 - 52 ] 2_] A 53
101 101
) ——— (D) -
22y 52 23 52

In the form of —H&F, 0-505 can be written as

2" x5
101 101
A - (B)
o 21 x52 2} x5
101 101
C (D)
I 221:52 23152

| 88/A/605
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1,

43, af wm weiketanbger ¥ b=4,q=5 M r= 1AW aH 7w x|

“{A) 20 B 21
() 25 (D) 31

If in division algorithm a=bg+r, b=4, g=5 and r= 1, then whay
is the value of @ ?

(A) 20 | 21
€) 25 (D) a1
44. WEIE 2x?-4x-6 % S B
(A) 1,3 B) -1,3
«$C) =3 (D) .-1,-3
The zeroes of the polynomial 2x2 - 4x—6 are
(A) 1,3 B -1,3
() 1,-3 (D) -1,-3
45. wEWR (x3+x% +2x+1) (x*+2x+1) 1 9@

&) 3 B) 4
. © 5 (D) 6

The degree of the polynomial [x3 +x%42x+1) x?% +2x+1) is

w3 B 4
(C) 5 D) 6 e
SS/A/605 Page 18 o
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E frafafen ¥ o wgog 9 2 2
a)  x*-7 (B) 2x°+7x+6
| F el
[C] E.t' +EI+4 (D) x+..:..
Which of the following is not a polynomial ?
Ay x*-7 (B) 2x?+7x+6
(C) %xi +-%—x +4 (D) x+;
7. frafafea 1 fee o gy & w2 W@ - 28 ?
(A)  x2+4 » B) x2-4
(C) x2-2x+4 (D) x2+JB
Which of the following quadratic polynomials has zeroes
2and -2 7
(A) x°+4 | B) x%-4
(C) x2-2x+4 (D) x2 448
48, fe wEW (2 +7t+10 & GEID aUE BE A o+ PHE AR R
A 7 (B) 10
) -7 (D) -10
88/A/605 Page 19 of 44



49,

=0,

Sl.

1

| lig
i |
If @« and § are the zcroes of the polynomial t7+7t+10 theq the

vilueofa + ) is

w7 (B) 10

€ -7 @) -10

(sin 30" +cos 30" )~(sin60 +cos60 ) =

A) -1 B) O

<) 1 D)y 2

afe fuma waeg (k—1)x2 +kx+1 1T a6 — 4 B Ak F A R

A} - « (B)

wls  blu

) - (D)

wis  Blo

If one zero of the quadratic polynomial {k—l].tz +kx+1 is =4 ther
the value of kis

: 5
a -2 ® 2
© -2 o 3

foh wrg fog P8 W W PA @ PB @ v Yol @ W R @
PA=8%H Al PB=

(A) 6% (B) 8&d
c) 123 (D) 16@H

SS/A /605 Page 20 of°
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Al

53,

(110 |

From an external point P, two tangents PA and P are drawn on @

cifclc. If FA= B cm then PG =
i) Sem (B) 8Bcm
(C) 12 cm (D) 16 cm
ﬂf??ﬂﬁpﬂﬁiﬂ?iﬁjﬁﬂpﬂ?ﬂumﬂqﬂq{aﬁﬂqﬁmﬂWﬂﬂ

wd ZAPB = B0" @) £POA =

(A)  40° B  50°
(C) &0° (D) 60°

If PA and PB are the tangents drawn from an external point Ptoa
circle with centre at O and ZAPB = 80° then £POA =

(A) 40° (B) 50° |

(C) 80° | (D) 60°

ga W fea Rt farg w it i el T, arf g @ e I el B
A -9 S &4 R 2

(a) 307 » (B) 45°

(c) 60° (D) 90°
What is the angle between the tangent drawn at any point of a

cirele and the radius passing through the point of contact ?

() 30° B 45°

[C) 60° (D) 90°

SS8/A /605
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\ L8 T4 \

S Q4 @ Rl 61 Rge 30 Bl sk Qe W wgva R
W X3 B 4l
N 9e m 1s:9
The ratio of the radii of two circles is 3 & 4 3 then the ratio o ey,
SRR 1%
(E U B | 4:3
Wl 9 1e D) n:9

XN uMM:u@\;n&wﬁua‘ﬂhmwmawt, W AR
A sisdpl B)  ale¥wd?
© 462 ¥D? D) 406 )3
The area of the sector of & circle of radius 42 cm and central angle
30* s
(A S15em? B 416 em?
(C) <82 em= (D) 406 cm?

S8, &ﬁﬂnﬂﬁﬂmm 5: 78 M R Aswail w I R
N T7:§ MB) S:7
) 25:49 (D) 49:28
mmufth:cltwml‘emnmdtmcimlnh& ¢ T 3 then
ratio of their radii is
Al T7:5 B) S5:7
() 25:49 (D) 49:2%

L SS/A/605 .
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’ {110]
| s Tucgﬂ—?tanz.q=
(A) 49 & 7
Rt > D) 0
g, TR x=acosO M y=bsino @ b2x?+a’y’ =
W © ab
@ a'v’ D) a®+b’
If x=acos@ and y=bsin0 then p2x2 +aly? =
(A) a’p? (8) ab
(€ a’'v* (D) a+ b
59. ﬁrﬁmﬂnﬁiﬂmaﬁwﬁmﬁ 10 # 7@ W 60° B, a1 AR
# Surf ¢
(4) 104 @) 10437
(€) 1543% D) 203

The angle of elevation of the top of a tower at a distance of 10 m

from its base is 60° ; then the height of the tower is

(B) 10J3m
203 m

(A) 10m

icl 1543 m (D)

Page 23 of 44
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0l

Gl

G2.

11
e win ged) A 30 W) R Sard v R s R BRogEl A g0,

" “L
Wl &, o) Sl end R
A} 3odad B) 3543 s
€1 20J3 W » (D) 4542

A Kite 15 a at a height 30 m from the earth and its string makes
angle 60" with the*carth. Then the length of the string is

(Al 30J2m (B) 35J3m

(€) 2043m D) 45J2m

afe fedl axiot 3D w1 59l we 11 od W i 2 & @ IEW vy o
Em ?

Ay 1 I - (B) 2

<)y 3 (D) 4 x

If Sth term of an A.P. is 1] and common dillfererice is 2 then wh
is its first term ?

(A) 1 ‘ B) 2
(€} 3 (D) 4

nqﬁmﬁmwﬂﬂﬂ e +2n +1 %'ﬁl\mﬁﬁ‘lﬁ%

(A) 29 (B) 19
e (C) 15 (D) 0 |/ F§ 7
The sum of an A.P. with nterms is n? +2n +1 then its 6th term |
(A) 29 | 19
(C) 15 (D) none ol these

SS/A/605 Page 24 «
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ﬁ ‘ | 110}
I ek i % Wi A A R
| @b R e B @) X2, X, x, Xl
(o 2x, 3x, 4x , ... (D) 2?2 42, 62, 82, ...
which of the following is in an AP, ?
A 17,916, .. B x2 a3
€ % 2x, 3x, 4x, ... (D) 22 42. 52_ 82, ..
64 Prefeiftaa § S SR A A A4 R 2
A 1L2,3.4%. B) 3,6,9 12, ..
€] 2468 .. (D) 22, 4% 6%, 82, ...
Wwhich of the following is not in an AP ?
,- Ay 1,23, 4 .. (B) 3,6,9 12, ...
| € 2,468, .. o) 2%, 4% 62, 8%, ...
o5 EE 4G 1,4, 7, 10, ... % W 20 Y& F AT &
(A) 500 (B] 540
(C) 590 (D) 690
The sum of first 20 terms of the AP 1,4,7,10,..18
(A) 500 (B) 540
{c) 590 (D) 690
Page 25 of 44
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WEd L 100+ 30+ 8= 138
Total Questions : 100 + 30 + 8 = 13

f:mtm 362 15fl=r=l1’}

me-l'r answers in their own words
as far as practicable.
. Figures in the right hand margin
indicate full marks.

15 minutes of extra time have been
allotted for the candidates fo read
the guestions carefully.
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5. &% RvGa g avgl § § — mug-ar >
Uy wuE-a|

e e m—

6. WvE-& § 100 Fghrw ww & ©
Fred @ Re=T sowvat @t 37 &1
sfrand &1 vare @ sifes wv &
IR 7 W swH 50 It @1 &
TeuiET e e e wer &
g 1w Fvifts &1 @8 3t @
TR 1 T OMR IAT T o
Rd it wwl ey @ At/ e
g 97 # wne wF feet
HEIT & EEgzEw / avey 9w /
& / AT Wiy FT OMR TH-
giedsr § mEit wew wear g
F=uT WREw qfvom sy gy

7. @Wug-a 4 30 @Y Iwvig wyw £ 7

fa @ fs==t 15wyt &1 397 d=r
sfqard #1 5% 577 & v 2 9
Fuifea &1 7% sffvm, §9 @vg o
8 T4 IwiT v RE 74 € fEd
@ f&=27 4 9w &1 7 &7 71
w7 & faw s s Fraffea &1

8. gt gt & wewgi® agEvg @ &
ST Gy T # 1

| 110 |
This gquestion booklet 1s divided into
fwo secthons — Section-A and
Section-B.
In Section-A, there are
100 obfective type questions, out
of which any S50 guestions
are to be answered First
50 answers will be evaluated in
case more than 50 gquestions are
answered. Each question carres
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct optinr
on OMR Answer sheet provided o

you. Do not use whitener / liguid
[/ blade / nail etc. on OMR-sheet,
otherwise the result will be
treated invalid.

In Section-B, there are 30 short
answer type guestions, oul of
which any 15 questions are to be
answered. Each guestion carmes
2 marks. Apart from these, there
are 8 long answer type
guestions, out of which any
4 guestions are to be answered
Each question carries § marks.

Use of any electronic appiiances is
strictly prohibited.

SS/A/605
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I8 = 45° then the value of sin 0 + cos 0 1s

| 110

I

T ; 2
Y B) 2
1
(C) 3 D) 1
4. TR A=30°R A 2120A am i
1-tan? A
-(A) 2 tan 30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°
If A = 30° then the value of — 212804 ;o
1-tan? A
(A} 2 tan 30° .(B) tan 60°
(C}) 2 tan 60° (D) tan 30°
5. ﬁf&tan&==1-§2—€i?hsinaaﬂrrmi
2 . 12
x (A} 13 (B) 5
S 12
(€) 13 (D) 5
If tanﬂ:%— then the value of sin 8 is
5 12
(A) i3 (B) 13
S 12
(C) 13 (D) <
'3S/A/605
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If one of the 2cros of the polynomial p(x) is 2 then which of the

following is a factor of p(x) ?

(A

(C)

x-2 B) x+2

13. ‘ﬁiﬁtﬁ ﬂx:+ﬂt+b%1ﬁ$u3ﬂ'{ﬁﬁ.?ﬁu.ﬂmﬂﬁ%

(Al

(€)

a -
o - (B) —

c

=]

nlor

b ‘
- D) -

If @ and P be the zeros of the polynomial ex? +ax+b then the value

ofla.pis
w2 ® ==
€ 2 o -2

14, Frafefigs 1 8 =7 Zum o § 2

(A)

(C)

(x+3) (x-3)ax2-4x3(B) - (x+3)% =4(x+4)

[2:--2]2 =4x?+7 (D) 4I+-4lx-=4x

Which of the following is a quadratic equation ?

(A)

(C)

(x+3)(x-3)=x>-4x*(B) (x+3)% =4(x+9)

- L,q
(2x-2)° =4x°+7 (D) 4x+4x x

[88/A/605
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9. (1-cost0) =
AV cos? o[l -cos? 0) (B) sin?o( +cou? 1)
(€)  sin?0(1-sin?0) (D)  sin?0(1+sin?0)
10, y-ny W Run fald fag w1 s A R 2
A (y, 0) B) (2,y)
(C) (0, x) (D) A =xf
What is the form of a point lying on y-axis ?
(A} (u,0) B) (2,y)
(€) (0, x) _ (D) None of these
11. k% fou am & fu fum adism kx? -6x+1 =0 % 4y§ FrElE v
a9 § ? |
(A) 6 B 8
.{C) 9 (D) 10
For what value of k, roots of the quadr;;ic equation kx? -6x+1 =0
arc real and equal ?
(A} 6 B) 8
() 9 (D) 10
12. AR F{R p(x) F & TS 2 @, @ Fafofes # #7 pix) =
TGS § 7 |
(A) x-2 (B) x+2
- (C) x=-1 (D) x+1
SS/A/605 Page 6 of 4
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| 110 |

cos au* . tan BO® -
sin31®*  cotl0®

I

A B

(A) ﬁ (B)

« o3 |

€ 5 (1) 3

af 1an25° x 1an65° = sin A B @ A & WA ?
. (A) 25° (B) 65"

(€ 90° (D} 45°

If tan 25° x tan 65° = sin A then the value of A is
Ay 25° (B) 635°

c)  90° (D) 45°

8. ﬂﬁmsﬂ=x?ﬂtanﬂ=

2 2
Jl-fx 1-x
(A) @ =
X

c) y1-x2 (D)
= 1 2

If cosl= x then tan 0 =

J1+I= (B) 1-3:2

(&) - =

Q) y1-x2 (D)

88/A/605 Page 5 of 44
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ﬂf&P+{,2P+I.4P-1mma!ummt e
Lad | 2
& - | o 4
I{P+1,2P+ 1, 4P~ | are in A.P. then the value of Pis
(A} 1 B) 2
c 3 (D) 4
0. St AR 1, 5,9, .. F 9 W d
(A) 2 (B) 3
(C) 4 (D) 5
The common difference of arithmetic progression 1, 5, 9, ... i8
(A) 2 B) 3
€ 4 (D) S
20. TAIW AA 5, 8,11, 14, .. FAA-TI R38R ?
A) 104 ® 114
«(c) 124 (D} 134
'Which term of the AP, 5, 8,11, 14, ...is 38 7
(A) 10th (B) 1lth
(€) 12th (D) 13th
Page S of 44
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I 110
15, Refefe § 2 9 R wliem 78 3 7 '
{A) Sx"‘xntx:-ha (3) Ia-xitlx-'lla
€ (x+3)?=3(x2-38) (D) (J2x+3)%2=2x%+5
Which of the following is not a quadratic equation ?
(A) Sx-x?=x?.+3 B) x?-x%2=(x-1)°
(C) (x+3)%=3(x2-5) (D) (J2x+3)2=2x2+5
16. faam wfiwm 2x2 ~7x+6=0 %1 = &
A1 B -1
< 27 (D) 37
The discriminant of the quadratic equation 2x? -7x+6=0 is
A 1 | | -1
(c) 27 (D) 37
17. PefRmid s g =25 dafmwi?
«(A)  (2.0) By (2,1)
© (2 2) (D) ¥ A WA
Which of the following points lies on the graph of x=2 ?
(A) (2,0) B) (2,1)
c (2, 2) - (D) all of these
SS/A/605 Fage 8 of 4
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I.llﬂl

27.  Red) P ABCH 2A = 90°, BC= 1381, AB= 1280 @ ACH 113
(A} 3@ »(B) 4 8+

() 5 st (D) 6@l

In any AABC, £ZA =90°, BC= 13 cm, AB = 12 c¢m ; theh the value ¢

ACis
(A) 3om (B} 4cm
7C) Scm (D) 6cm
28. ADEFa¥ APQR A 21 2 6 4D = 20 oW1 4R = £E, M fr=fifgn i
FHE-T 6} P
*«(A) ZF=/4P I[B] LF = /2Q
(C) 2D=2sP (D) ZE=ZP

In ADEF and APQCR it is given that £D = £ZQ and £ZR = ZE, the:

which of the following is correct ?
(A) <LF=ZP ~ (B) <£F =40Q
(C) <£ZLD=ALP (D) <ZE=/ZP

- AE:IEC=CA - ZA = 40
29. AABC W ADEF % ¥#R € & == =pr ©

2B =80°dl £F #1 AW 2

(A) 30° P[E] 45°
(C) 60° (D) 40°
SS/A/605 Page 12 of ©
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E felt gm &) 2 wem il gt afaiifa w0 arel Tan & wed 8

() V(B) B

© ¥l () s A W Al

A line which intersects a circle in two distinct points is called
(A)  Chord (B) Secant

(C) Tangent (D) None of these

#Wﬂﬁﬁﬂﬁﬂﬂwtiq:gﬁ:mﬂ%|ﬁgwﬁahﬁﬁw

25.
s fEan §m 2
(A) 9:4 «(B) 16:81
(€} 81:16 (D) 2:3
The corresponding sides of two similar triangles arc in the ratio
4 : 9. What will be the ratio of the areas of the triangles ?
(A) 9:4 B) 16:81
(C) B81:16 D) 2:3
26. AABC ~ADEF @1 BC = 3 ¥ft, EF = 4 1 21 A& AABC 1 BELTS]
54 82 B, A ADEF %I Bawel &
(4) 56 @dH? . @ 9suW?
€ 19682 , (D) 49 &d?

AABC -ADEF and BC = 3 cm, EF = 4 cm. If the area of AABC is

54 m‘!:, then the area of ADEF is
‘ (B) 96cm?

() 56 cm
2

C) 196 cm? (D) 49cm

8S/A/605
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21, R A0 1), B(o, 5)w C(3, 4l Aapc ¥ o §, @ AABC w;

WaweE (ol yand 1) R

" 1A)

(€)

16

6

(B)

(D)

12

4

IMA(DO,1),B(0,5)and C( 3,4 ) are the vertices of any AABC
then the area ( in square unit ) of AABC is

(A)

(<)

16

6

(B)

(D)

12

4

22, tan 10° . tan 23° . tan B0®° . tan 67° =

(A)

(€)

0

J3

(B)

(D)

1

J3

23. 3 2 wuEy Pgel F AeEl W W 100 ¢ 144 B, @ I T g

W IAE 2
+{A) 10:8
(C) 10:12

(B)

(D)

12: 10

10: 13

If the ratio of arcas of two similar triangles is 100 : 144 then the

ratio of their corresponding sides is

(A) 10:8 (B) 12:10
(C)y 10:12 (D) 10:13
SS/A/605 Page 10 of 4+
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The radii of two cylinders are in the ratio 4 : 5 and their heighty

in the ratio 6 ; 7. Then the ratio of their volumes is

(A) 96 : 125 (B) 96:175

€)Y 175:96 (D) 20:63

33. R0 a@ adid w1 vyl gm = B 2

HA)  aR? (B) 2zR?
(€) 3xr? D)  4xR?
What is the total surface area of a hemisphere of radius R ?
(A)  =R? B) 2zR?
€ 3=zr? (D) 4nR?
34. TR T WiF S wwys w1 dawe 980 A2 2 ik Prew 14 A 2 A 59
firds $=md 2 :
(A) 103H ' (B) 20 &#
“(C) 40@H (D) 303
If the curved surface area of a cone is 880 cmZand its radius it
14 cm, then its slant height is
(A) - 10 cm (B) 20cm
(C) 40cm (D) . 30 cm
3s5. 3R foeelt o % Rsol ) ward 243 @ R o % ok o ward R
(A) 28 «(B) 243 &
©) 3ad (D) 4%
SS/A/605 Page 14 of ¢
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AABC and ADEF AB _BC _ CA nd <A = 407,
are such that DE ~ EF ,

ZB=80% ; then the measure of ZF is

(A) 30° (B) 4s°
(€} 60° (D) 40°

30. 2w g A swafiy el tanad A den @
Ay 1 (B 2
€ 3 (D) AR

The number of common tangents of two intersecting circles i1s

(A) 1 B) 2
(¢ 3 (D) infinitely many

31. ﬂ’ﬁﬁ%mﬂﬁwmﬂﬁé:msiﬂmﬂiqﬂﬂmiﬂmﬂ%

(A) 25:8 (B) 25:16
.(C) 16:25 (D) T & HIE T

The ratio of the volumes of two spheres is 64 :125. Then the ratio

of their surface areas is

(A) 25:8 B) 25:16
(€C) 16:25 (D) none of these

32, 2 el B Benal % 3 4 58 W W Il 3P 6: 7 W,
W Ik HETH F W R
(A) 96:125 (B) 96:175
€ 175:96 (D) 20:63

Page 13 of 44
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31, Pefilen 3 A fm ) eimea v i P

{ﬁi 14 9

2"x3* S 5 w7t
8
) —s 15
:22 332 lD:I 2'4! i 53

| 110 ]

Which of the following fractions has terminating decimal

expansion ?
14
M] —— RS 4
Q.D b 32 Uj:l 5] x ?2
8
(C) D _15

42, —L£— F w99 0-505 # feren @ B

2 5™
101 101
(A) (B
21 - 52 ] 2_] A 53
101 101
) ——— (D) -
22y 52 23 52

In the form of —H&F, 0-505 can be written as

2" x5
101 101
A - (B)
o 21 x52 2} x5
101 101
C (D)
I 221:52 23152

| 88/A/605
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Illui
aft Rl i ¥ a% gt dawe 1232 W02 @, | R B

A 7ad B) 14 3h

<€) 21 a4 (D) 288

If the curved surface area of a hemisphere is 1232 cm2then itg

radius s

(A) T7em (B] l4cm
i€} 21em (D) 28cm
TR cosO+cos?8=1 @ sin? 9+sin 0 T TA 2
A} -1 B 1

) O D)y 2

If cosO8+cos?0=1 then the value of sinZ0+sin? 0 is

A -1 B 1

(C) 0 D) 2

1+ I.:m2 A =

1+ l..‘.'ﬂl.a A

(A) sec? A B -1
(€ cot?A @) tan®A

SS/A/605 Page 16 of
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110
Il the length of the diagonal of a cube is 2¢3 em, then the ll'.'l!lﬂlh “lr
its edge is
(A) 2em (B 2¥3cm
(C] 3cm (D) 4cm
Rl w1 e g @ R W ge Awe TES & I 8 AAeE
fea 0 &) e 2

(A) AT . (B) SR

€ & T (D) 9RE T

If the edge of a cube is doubled then the total surface area will

become how many times of the previous total surface area ?

{A) Two times (B) Four times

[C) Six times (D) Twelve times

fireh T % T B Awe N I BE & S F T P8 S

%1 g ]
(A) 2:1 ' (B) 4:9
©) 3:2 (D) 4:3

The ratio of the total surface area of a sphere and that of a
hemisphere having the same radiuas is
(A) 2:1 (BY 4:9

€ 3:2 D) 4:3

Page 15 of 44
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49,

=0,

Sl.

1

| lig
i |
If @« and § are the zcroes of the polynomial t7+7t+10 theq the

vilueofa + ) is

w7 (B) 10

€ -7 @) -10

(sin 30" +cos 30" )~(sin60 +cos60 ) =

A) -1 B) O

<) 1 D)y 2

afe fuma waeg (k—1)x2 +kx+1 1T a6 — 4 B Ak F A R

A} - « (B)

wls  blu

) - (D)

wis  Blo

If one zero of the quadratic polynomial {k—l].tz +kx+1 is =4 ther
the value of kis

: 5
a -2 ® 2
© -2 o 3

foh wrg fog P8 W W PA @ PB @ v Yol @ W R @
PA=8%H Al PB=

(A) 6% (B) 8&d
c) 123 (D) 16@H

SS/A /605 Page 20 of°
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E frafafen ¥ o wgog 9 2 2
a)  x*-7 (B) 2x°+7x+6
| F el
[C] E.t' +EI+4 (D) x+..:..
Which of the following is not a polynomial ?
Ay x*-7 (B) 2x?+7x+6
(C) %xi +-%—x +4 (D) x+;
7. frafafea 1 fee o gy & w2 W@ - 28 ?
(A)  x2+4 » B) x2-4
(C) x2-2x+4 (D) x2+JB
Which of the following quadratic polynomials has zeroes
2and -2 7
(A) x°+4 | B) x%-4
(C) x2-2x+4 (D) x2 448
48, fe wEW (2 +7t+10 & GEID aUE BE A o+ PHE AR R
A 7 (B) 10
) -7 (D) -10
88/A/605 Page 19 of 44
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1,

43, af wm weiketanbger ¥ b=4,q=5 M r= 1AW aH 7w x|

“{A) 20 B 21
() 25 (D) 31

If in division algorithm a=bg+r, b=4, g=5 and r= 1, then whay
is the value of @ ?

(A) 20 | 21
€) 25 (D) a1
44. WEIE 2x?-4x-6 % S B
(A) 1,3 B) -1,3
«$C) =3 (D) .-1,-3
The zeroes of the polynomial 2x2 - 4x—6 are
(A) 1,3 B -1,3
() 1,-3 (D) -1,-3
45. wEWR (x3+x% +2x+1) (x*+2x+1) 1 9@

&) 3 B) 4
. © 5 (D) 6

The degree of the polynomial [x3 +x%42x+1) x?% +2x+1) is

w3 B 4
(C) 5 D) 6 e
SS/A/605 Page 18 o
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\ L8 T4 \

S Q4 @ Rl 61 Rge 30 Bl sk Qe W wgva R
W X3 B 4l
N 9e m 1s:9
The ratio of the radii of two circles is 3 & 4 3 then the ratio o ey,
SRR 1%
(E U B | 4:3
Wl 9 1e D) n:9

XN uMM:u@\;n&wﬁua‘ﬂhmwmawt, W AR
A sisdpl B)  ale¥wd?
© 462 ¥D? D) 406 )3
The area of the sector of & circle of radius 42 cm and central angle
30* s
(A S15em? B 416 em?
(C) <82 em= (D) 406 cm?

S8, &ﬁﬂnﬂﬁﬂmm 5: 78 M R Aswail w I R
N T7:§ MB) S:7
) 25:49 (D) 49:28
mmufth:cltwml‘emnmdtmcimlnh& ¢ T 3 then
ratio of their radii is
Al T7:5 B) S5:7
() 25:49 (D) 49:2%

L SS/A/605 .
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I ek i % Wi A A R
| @b R e B @) X2, X, x, Xl
(o 2x, 3x, 4x , ... (D) 2?2 42, 62, 82, ...
which of the following is in an AP, ?
A 17,916, .. B x2 a3
€ % 2x, 3x, 4x, ... (D) 22 42. 52_ 82, ..
64 Prefeiftaa § S SR A A A4 R 2
A 1L2,3.4%. B) 3,6,9 12, ..
€] 2468 .. (D) 22, 4% 6%, 82, ...
Wwhich of the following is not in an AP ?
,- Ay 1,23, 4 .. (B) 3,6,9 12, ...
| € 2,468, .. o) 2%, 4% 62, 8%, ...
o5 EE 4G 1,4, 7, 10, ... % W 20 Y& F AT &
(A) 500 (B] 540
(C) 590 (D) 690
The sum of first 20 terms of the AP 1,4,7,10,..18
(A) 500 (B) 540
{c) 590 (D) 690
Page 25 of 44
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0l

Gl

G2.

11
e win ged) A 30 W) R Sard v R s R BRogEl A g0,

" “L
Wl &, o) Sl end R
A} 3odad B) 3543 s
€1 20J3 W » (D) 4542

A Kite 15 a at a height 30 m from the earth and its string makes
angle 60" with the*carth. Then the length of the string is

(Al 30J2m (B) 35J3m

(€) 2043m D) 45J2m

afe fedl axiot 3D w1 59l we 11 od W i 2 & @ IEW vy o
Em ?

Ay 1 I - (B) 2

<)y 3 (D) 4 x

If Sth term of an A.P. is 1] and common dillfererice is 2 then wh
is its first term ?

(A) 1 ‘ B) 2
(€} 3 (D) 4

nqﬁmﬁmwﬂﬂﬂ e +2n +1 %'ﬁl\mﬁﬁ‘lﬁ%

(A) 29 (B) 19
e (C) 15 (D) 0 |/ F§ 7
The sum of an A.P. with nterms is n? +2n +1 then its 6th term |
(A) 29 | 19
(C) 15 (D) none ol these

SS/A/605 Page 24 «
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g L
ll2

D 0

freafifirn & 9 R four oz & ypoes 3w - 10 €7

Tl
W) X 47x-30 @) x2-7x-30
X2+ Tx+30 2
(€] (D) x%~Tx+30
Which of the following quadratic polynomials has 2Zerocs
dand- 107
W ={2 +7x-30 B x*-7x-30
| (€ x* +7x+30 (D) x%-7x+30
7. lﬁﬁ*ﬂfﬂmi@i#aﬁaﬂﬁra’mﬁmqﬁmgﬂm—ﬂ.?ﬁﬂ
| foura WRVE 2
(A) x%-3x-2 (B) x2-3x+3
© x*-2x+3 (D) x2+3x-2
If the sum of zeros of a quadractic polynomial is 3 and their
product is - 2 then that quadratic polynomial is
(A) x*-3x-2 B) x%-3x+3
I ml 12*2.".'*3 ":I] :2.'.3;-2
| 88/A/605 Page 27 of 44
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| s Tucgﬂ—?tanz.q=
(A) 49 & 7
Rt > D) 0
g, TR x=acosO M y=bsino @ b2x?+a’y’ =
W © ab
@ a'v’ D) a®+b’
If x=acos@ and y=bsin0 then p2x2 +aly? =
(A) a’p? (8) ab
(€ a’'v* (D) a+ b
59. ﬁrﬁmﬂnﬁiﬂmaﬁwﬁmﬁ 10 # 7@ W 60° B, a1 AR
# Surf ¢
(4) 104 @) 10437
(€) 1543% D) 203

The angle of elevation of the top of a tower at a distance of 10 m

from its base is 60° ; then the height of the tower is

(B) 10J3m
203 m

(A) 10m

icl 1543 m (D)

Page 23 of 44
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66 Pe=fafe 1 Has AH | R

ﬂing-ﬂ' » r.'ua?ﬂ'

(A) sin? 60 +cos 60 (B)
© sin?60" (D) sin4S x e
cos 45
Which of the following values is equalto 1 7
{A) sin? 60" + cos 60° (B) sin g0 = €OS 90
(<) sin? 60 (D) sin 45 == ==
cos 45
67. vtos? A{l+tan® A)=
(a) sina (B) coscc A

< 1
{D) tans A

68. tﬂﬂﬂﬂ. =

w 3 ® L
© = ‘
3 (D) 1
62, cos60°=
A 3 (8) if-
& od
€ 7 D) 1

SS/A /605
' Page 26
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‘ the graphs of two | l g I
| | ihear equations are parallel then the number
_ or,ulutiuns will be

o ® 2

infinitel
@ ! e (D)  none of these

m H I Tq 5-’(-4y+3=u1@* ?x*_ﬁy_gsna

] q «(B) ¥

o) CERER A
The pair of linear equations 5x-4y+8=0 and 7x+6y-9=0 is

(L) consistent (B) inconsistent

(C) ‘_1"?‘“{1':“7- (D) none of these

i Iﬂmm 3x? -5x+2=0 t‘{{ﬂu'@i ﬂﬂﬁ a2+ﬂ2ﬂﬂﬂz

13
w3 B T3
s 3 o 3

Ifaahd p are roots of the quadratic equation 3x2-5x+2=0 then

the value of o2 +p? is

13 3
L -y B 13
Ba 5 3
© 3 O 3
S8/A/605 Page 29 of 44
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73, 4R plx) =xt -2x3 +17x% - 9x+30 B g(x)=x+2 8 WM e 3
A wpTHe ®) uTE 2}
A} 6 B 3
(c) 4 (D) S

Il pix) =x? =253 $17x% —ax+30 is divided by g(x)=x+2 the,

the degree of the quotient is
(A) 6 B) 3
€ 4 ) 5

74. x+2y+3=0, 3x+6y+9=0 HFargaEm ?

-

A) T B w1 EH Ei
(€ wAfrmE (D) B =§ A
How many solutions will x+2y+3=0, 3x +6y+9=0 have ?
(A) One solution
(B) No solution
(C) Infinitely many sclutions

(D) None of these
75 2 Yias adiEwl & Gaiea af gaia € @ g S 9ed gl

(A 1 (B) 2
, () FAfmd (D) ¥ | wE 7l
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; 110 )
¢ is the nature I
'.“ﬂw of the roots of the quadratic cquation
u‘.—ﬁ,ﬂi’ 3'0 ?

real and un
A ] sl (B) real and equal
i
© m° i (D) none of these

gﬁmﬁﬁ’iz-s.s-a.a-u,_,,ﬁ;aﬂﬁm!

w2 B) 3

o 4 (D} 35

| length of the class intervals of the classcs,
2.55-8,8-11,..is

w2 B) 3

e 4 (D) 35

B 2w FaT Re wensi w A 6 3, W v ¥ w8

|!;F'

m 4:5 B) 9
S (D) 15

If the mean of four consecutive odd numbers is 6 then the largest
number is

W 45 B 9
© 21 o) 15
L T 6§ W TEA F A
B 4 (B): 6
o 7 D) A wE
The mean of [irst b even natural numbers is
W 4 B 6
€ 7 (D) none of these
/605 | Page 31 of 44




l"lﬂi

. N ot wa R
78 a&ﬁmﬂnm.zx‘-?w—p-ﬂ'““qﬂ:ﬁ“"

A 4 B -4

iICy -6 Dy ©

_pwuw( i8 . h
If one root of the qmdrati.c equation 2x2 -7x-P 0 is 2 then the

value of p is
Ay 4 |\ -4
c -6 (D) ©

7o uf: feawm e 2y? —x—6=0 T T T = R @ g 0 R

A) -2 B) 2

© 3 D) 3

. — 3
If one root of the quadratic equation ox?-x-6=018 —i—ﬂ'_tcn

_ another root is

(A) -2 B 2

(C) % (D) 3

80. ﬁﬂmmn“—ﬁmhu%:ﬁﬁnﬁwt?
(A) RAfaS T FEAH B) STl U W
(€ RS T () il @ W T
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b tz-imﬂi\ilmilﬁw+msamﬂgﬂﬂm!
A 1
w1 ®
1 2
(C) + D) 3

The probability of getting & pumber 4 or 510 throwing a die ig

1 ]
(A) 2 (B) 9
1 2
(C) r3 (D) 3
al. fizg:a.jnan-.o:m{n,amsﬁﬂ“lﬁﬁﬁfﬁﬁ
(A) 8 B 23
1
c pu—
(C) 64 O 3

The distance between the points ( & sin 60°% 0 |} anpg

lﬂ.ﬁmﬁﬂ’]in

B 25
{: 64 - = _1_

(©) o 3

aﬁo(n,ullﬁlﬂaﬁWﬂ%P*ﬁ%‘lmglﬁ?ﬁ@ oP?

@A) -y B) yx*+y°

D) T & B T

(A) 8

92.

€ x*-y*

S8/A/605




(110
arc thrown at the same time. What is the probability that
: ﬂiﬂ-ﬁ@:ﬂ of the numbers appearing on top is zero ?

1 ' )
W 36 B3

5 5
18 B 35

1 L
2 B 3
L (D] 1
3

thahthw of getting heads on both the coins in throwing two
oins is

i
e =

. 1 1
1 (D) 1
4

& #ﬁﬁmmqﬁmmmaﬁmmﬁﬂ
" g 2 -

% Bl 313
1 1
@ i o
A month is sclected at random in a year, The probability of it being
June or September is
: 1
2 B 13
1 I
6
AJG05 Page 33 of 44




84 lecot?d =
M sin?o @) conec’0
(€ tan?eo (D) sec’ 0

85. 8.7.9,3.9.5 4,8 7.5 uEwt
W S ® 7
) 8 o 9
The mode of 8, 7.9, 3,9, 5,4, 5. 7. 818 |
A) S ® 7
< 8 @ 9

86. =2 P(E)=0-027W P(E') wwwt &
(A) 0-02 (B) 0-002
©) o098 (D) 097
If P{E)=0-02 then P(E’) is equal 10
(A) 0-02 ® 0002
() 098 D) 097

87. ﬁﬂﬁwmﬁmtlmmﬁmﬁéﬁﬂmﬁﬁ%%
sfRrsm e & ?
W 3= ® =
© 3% O ==
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‘ !
i which guadrant does the point | By~ 3 "9

2] Second

Al First
(€ Third ()  Fourth

o P i - ferg R st 3 (50 e
(n 13, 2) @ (=32
© (3,-2) o) (-3-2)
Which of the following poinis lics i1 second quadrant ?
(A (3,2) B (=3:.2)
) (3,-2) o) (-3.-2)

97. ﬁgﬂ:a,-4}ml—4.dlﬁwwﬁinth
i & 1
(A) (4. 4) (8 (0,0)
{€) (0.-%]) -tﬂl " (-4.0)
Th= co-ordinates of the mid-paint of the line segment joining :.
noints (4, -4 ) and (-4, 4 ) are |
(A} (4.4) B) (0,0)
C) (0,-4) (D) (-4,0)

98. t::;:l;:imfbg[ﬂ,ﬁjt-aﬁ!ﬁagﬁm (5,7) 8 _ﬂ:
Ay (2,-2) B (1,-1)

ss;it:::rusl = £ dch =

Page 30 of




' en (e distance OP is
N x3 -y’ B)
© xl - yi (D] none of these
mﬂhﬁnz.u]ﬁ:ﬁi
w 12 (B) 14
© 13 (D) 15

The distance of the point ( 12, 14 ) from the y-axis is

w12 B) 14
€y 13 D) 15
 fz(-6,-8)RERE

W =6 B -8
c © (D) 8
Thcnrdmntcnflhepuimlrﬁ.-ﬁliu
(ay -6 @) -8
) 6 (D) 8
ﬁﬁia,—dimmﬁﬁhﬂt?.

| 110 ]
‘Ol.ﬂ* 0} be the origin and co-ordinates of the point Pbe ( % ¥)

() T @ fdm
() T D) v
85/A/605
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100.

[110]
The mid-point of line segment AB s (2, 4 ) and the co-ordinates of

point Aare [ 5,7 ), then the co-ordinates of point B are

W (2-2) B) (1,-1)

© (-2-2) D) (1,1
thﬂmtﬁwﬁ%ﬁﬁﬁmm.-mmc-s,m;i?ﬁﬁfﬁi
¥ & s |
A (-2.-2) B (2:2)

€ (-2,2) D) (2,-2)

The co-ordinates of the ends of a diameter of a circle are ( 10, -6 )

and (- 6, 10 ). Then the co-ordinates of the centre of the circle are

Ay (=-2,-2) - (B) (2.2}
() (-2,2] o) [2,-2)
ot Pt P 3 70l & iz (4,6), (0,4) K (5, 5) B A B

% FoE $ Pens §
A (5,3) . B) 13,4)
€} (%.4) M (3.5)

The co-ordinates of the vertices of a triangle are (4,6 ), (0, 4 ) and

(5, 5) then the co-ordinates of the centroid of the triangle are

(A} (5, 3] (B (3,4]
€) (4, 4) (O (3,5)
[ 85/A/605 |
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10.

_ (110}
. wﬂﬁﬁd“‘“dm'ﬂﬂ*ﬁm[-s.-1},[3.-5}@

[S.EW

find the area of the triangle whose vertices are (- 5,~ 1), {3, )
and (5,2)

il 0 9J3 Wl &) w1 1 5 B A A Bl

The diagonal of a cube is 93 cm. Find the total surface ared of
cube.

oo g 1 WA R ENET 207 -242x+1=0 ¥ 7@ 7 B

Using quadratic formula find the roots of the equalion
ox2 -22x+1=0.

3+11+4 19 + .. + 67 1 Qe 1A A

Rind the sum of 3 + 11 + 19 + ... + 67.

2 Rl i ) = 5.1 W 9 Al W 43 @ 79 & i A
A W

If 5th and 9th terms of an A.P. are 43 and 79 respectively, find the

AP,
ﬂmuﬂmwﬂmmaﬂhﬁaﬂmzﬁnaﬁﬁﬁl

Find two consecutive positive integers, sum of whose squarcs
is 363.

2 SEEE & T Bl I 1ma|ﬁﬂﬁwmzﬁaﬁmﬁm§mil
8 s & forg ol Rl

The difference of squares of two numbers is 180. The square of the
smaller number is 8 times the larger number. Write the equation
for this statement.

[[58/A/605 | Page 39 of 44
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m-lj’lﬂ‘ﬂﬂ“'-

WY Fwila Wyt / Short Answar Type Questions
gk o faeel 1597 & gy 3,

wr womr 38 30 we my Fweie wv

¥y & farg 2 siw Fraifer 1 15“2-3
0

Question Nos. 1 to 30 are Short Answer Type Questions, Ans,,,,,
15 questions. Each question carries 2 marks,
¥ uﬁﬁaﬂwtmﬂﬂmfﬂtﬂuﬁtﬂﬁ:&w:qw%m%
amyE w1 AEwe WA )

If the radius of base of a cone is 7 cm and its height is 24 ¢ thes

find its curved surfacc arca.
2. qazuﬂﬂﬁqzﬂqhﬁﬁﬂ?#ﬂ%l 4nﬁﬂzﬂmﬁ:mmmw
ga%er 7a Wi

The length of the minute hand for a clock is 7 em. Find the ar.,
swept by it in 40 minutes.

3.  faz =t fF tan 7° . tan 60° . tan 83° = J3.

Prove that tan 7¢ . tan 60° , tan 83° = 3.

4. wﬁqﬂaﬁh’mmﬁa‘tﬁgﬂ[—-l.ﬂaﬁtm,-snﬁﬁﬁﬁw
veravz 1 2 : 3 % s ¥ imRhn s R

Find the co-ordinates of the point which divides linc scgmen
joining the points (-1, 7 ) and (4, — 3 ) in the ratio 2 : 3 internall

33}'1‘,’&&5 P‘dﬂt 3R of 44




" [110]
) &1 [ 1an9° . 1an27° =¢0163° cot 81°.
prove thal tan9* . tan27® =cot 63°.cot 81°.
4 -
R cosA=Z ¥ Al cot A3M cosec A & WA A H

I msﬁn% then find the values of cot A and cosec A.
o @ 7 A A Qe a0 1 i el &1 A w0 38 g
gt v it el ) e ) e R0

A ‘ﬂddﬂl’ Tm lnﬂg makeg an angh: ur a0° “’ith (
ladder touches the wall.

fig @ @ BE

he wall. Find the

height of the point on the wall where the
2 & g 9 ABCD B 4@ AD F % M T E &

CO# o shirede w3 A fag w6 aABE - ACFS
¢ side AD ol a parallulngrmn

orove that AABE ~ 8CFB.
am 21 g W

| E is a point on the extended part of th
ABCD and BE intersecis CcDat F; then

21. Amwmmﬁﬁaﬁmzc

AB? =2AC2.

ABC s an isosceles right triangle with ZC as right angle. Prove that

AB2=2AC*.

a2, ﬂﬁtanﬁ=%ﬁlﬁsinl]+:us&iﬁﬂﬁmﬁl

Ir Lﬂnﬂ-%then find the value of sin 0 + cos 0.

af smaancusm-za‘lﬁaﬁaaﬁmﬁw%iﬁ A %1 WA 7@ Sl

If sin3A=cos(A-26°), where 34 is an acute angle, then find the

value ol A.

[ 85/A/605 |
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13.

13.

14.

15.

16,

e g 530757 0L
Ps _PT - - @ =2 wt fs APQOR
S0 IR au1 ZPST =ZPRQ @ mﬁi’tr!

Bga

In & triangle POR, two points S and T are on the sides PO and 9.

PT -
respectively such that %--ﬁ and £PST =£FPRQ, then proy, thay

APOR is an isosceles triangle.

AB = Acaﬁﬁm&*ﬂc*‘“‘*ﬂﬂm‘:ﬂ“mﬂﬁtﬁm
2 af* Ap 4 BC 3 EF 1L AC ®, @ R =1 % AABD ~ AECF 3

E is a point on side CB produced of an isosceles AABC y;,,
AR = AC If AD 1 BC and EF L AC, prove that AABD ~ AECF.,

% AABC €1 Yl AB 3R BC @1 WI™IFL AD UF I APQR %
waisit po 3 PR W WiEwe PM wum: TETE € @ Re ow
% AABC ~ APQR.

Sides AB and BC and® median AD of a AABC are respectvely
proportional to sides PQ and PR and medium PM of another APQR

Then prove that AABC ~ APQR.
AABC Ul ADEF T9EY & aU1 1% S5 w9 W2 aw 64 A7 §
af2 pE =51 89 & @ ABF@ Sl

AABC and ADEF are similar and their areas are 9 cm”and 64 cm
respectively. If DE = 5-1 cm then find AB.

1+cos® 1+cosé

faz =t 7 1-cos0  sin® :

l1+cos0 l+cos@
Prove that 1-cos0 0

Page 40 Df_""'-‘;
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15 ﬁrﬁ mlh,.l llﬂ!ﬂ l-ﬂ“ﬂ:‘ I*zlmiﬂ 2sccl .tanb),

||lr,|

(ﬂ; - secO+ tanf)
Prove that L2520=1800) _y 4 24an?0-2sec0 .tan0.
{secl+tan0)
W @ g ® Rl wa 19%3119%!|mqﬂmfmm
8
ﬁuﬁwﬁﬁﬂﬁﬂqﬂﬂmﬁﬂtﬂﬁamm

The radii of two circles are 19 ¢m and 9 cm respectively, Fing , thy

radius of the circle which has circumlerence cqual to (he i
M of
the circumferences of the two circles. r
/J?; Prefifian 923 & ms 30 & '

”

/ @ HRE | 13-13 | 13-15 | 15-17 | 17-19 | 19-21 | 21-23 23.35 |
TNl 7 6 g9 13 | 20 Sl

Find the mean of the following distribution |

|
F Ll = TS
Class- 111 13| 1315 | 157 | 17-19 [ 1921 | 2123 | 23.-

; ‘:b / interval i
-LD Frequency 7 6 -9 13 20 5 4 |

G 38 v ug S foww Rl Sk 4 00 A o g B B e
- ' |
-\%' (aftital) 18 #ft 3t 6 3 §1 v& R & wpqdT S A =)
‘105- % The slant height of a frustum of a cone is 4 cm and the perime:e:s |
/éﬁv (circumferences) of its circular ends are 18 cm and 6 em. Find 1o
q "L curved surface firea of the frustum. ".
"g'ff”' .”I':' M VY —
=l * 1
7L /5? R oy e ‘B?:\
3 s 7
}}:f nﬂ WP =
58/A/605 )3 ¥ Page 430
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1110}
#1d T 97 / Long Answer Type Questions

icralﬂﬂﬂﬁ!ﬂﬁﬂmilﬁﬁﬂhﬁdwﬁirmiwm
| 'iﬁqﬁﬁﬁﬁ'ﬁf&ﬂtl 4x6=20

<o Nos. 31 to 38 are Long Answer Type questions. Ansuxr anyy
wﬁcns. Each question carries 5 marks. Jx5=20
g W% T IR x+3y-6=0 T ax - 3y-12=0 w1 et Wl
” & W

Draw the graphs of the pair of linear equations X +3Y - f=0 and

2x - 3y-12=0 and solve them,

. o wt T R el fop w1 T AW 7l Fnge & T 9 A l it
& I F i 3 el Y, S @ A1 P gus g R

If one angle of a triangle is equal o one angle of the other triangle

and the sides included between these angles are proportivnal then

prove that the triangles are similar. .
33, ﬂﬁﬁﬁﬁﬁmaﬁﬁﬁ#mﬁmuﬂ%@wﬂﬁﬂi
et 1 7 & 9 s

A two digit number is four times of the sum of its digits and twice

the product of its digits. Find the number.
s 76 i s s Taes W AR g 5 ;8 & s faafi Wl 2l
w4l &1 AT

Draw 4 line segment of length 76 ¢m and divide it in the ratio
S : 8. Measure bolh parts,
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20

28.

30.

. Il]”
aull Ly

i
L]

Q wonsd @ gy 50 & vl gl A 06 U
W v g

7
T
The sum of two numbers is 50 and one number 18 3 Himen of the

other ; then find the numbers.

fog i % 5 /3w oty b6 R
Prove thal 5 -3 is an irrational number,

k& g g & e Regd (1,1, (8, k) 3l (=1, 4 Fa 2

For what value of & points ( 1, 1 ). ( 3, k)and [ =1, 4 4,

collinear ?

y-Y W g wt A fgal (6,5 ) K (-4, 3) & s
L

Find such a point on y-axis which is equidistant from the poin:,
(6,5)and (-4,3).

xJ 41 W x + 18 9m Sl

Divide x3+1 by x + 1. :

wffere frvra aEies 1 M %1 504 @1 1188 & HoHo Fd Hi)
Using Euclid's vision algorithm, find the H.C.F. of 504 and 1188,
feam wfiem 2£+h-3=u%ﬁﬁﬂmﬁaﬁaﬁiﬁuﬁtﬂ A
ey

Find the discriminant of the guadratic equation 2x2 +5x-3=0
and {ind the nature of the roots also,

§S/A/605
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